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PART- A

D | Qefine Sampfe Space ?
The  set of all fossq”éfe outcomes in yanolom
expevimertt {5 colled 5ampfe Smace.
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Ex2 - For Rice
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7'34 Qefine  Addition  theoverm on two events

| I} A and B are two events
s then  P(AVR) = P(A)+P(B) ~P(Anw)

(Dlet A and B are anzf twop events
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Now . [AvB) = (Av(A“np))

Probability on both sioles

p(ave) = p(Av(A‘ns))
A g ACnp are MEE

p(r) + P(A°nB)
- pn) 4p(m) ~p(ans) [~ By 57 Property]

. plavs) = P(A)AP(B) - P(ANE)

Plavp)

\i




3)
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L) Oefﬁ’ne Bakje‘s “Theovern ?

if D X T | Mu{uamj Exclusive and

émﬁausﬁ’ve Even£5 (5HCA fﬁlat F[E,’?O) (f: 5.0 ife ‘r*;)
in a somple space o and A s any other event in
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/5)i Oefi’ne Osscrete  and  Continuous Ranafozv_%;nagé(;‘_ﬁ
Discvete Rancpom Variables |
A vardom aviable X which can take on/[;{ a /mr’{e !

ITOOJZ alues in an interval Of domain 15 o ool 1screte
Rancdem Vaviables.
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Continuous Rardom  Voviables -
| A Random wviable X which can {ake values cont-
‘fﬂu%ij is called continuous Random Variobles
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| PART- 3

|
) Slate and  Prove Ba‘de'é Theorem 7
Of B ,Es,... En are Muéuaffg Enclusive andl
Exhaustive events such that  P(E; 70) ({=1,2,---n) in
o 5ampfe space 9 and A fs an(LJ other evert n 9 ;
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let a §s aruj event 5 ,
A - ANS
A = AN [E,UEZU-» Eﬂ] |
A =(@veNu(AnE)v . ... (ANEN)

ANE\" ANEyy ...... Anen ave’ MEE
A =BnE) 4 (Ane)+ - .. (AnEo)

_Takf’ng pmgag;m? on  GotA sides

P(R) - Y{i PlAne) — O
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€q 0, 57 the o[e/[}’na{fm of conditional pmperé?f

p/AL) - P(ANB) } A p(A n &)
%) -2y > iR By

- P(Aneg;) (812] ]\/[uléf/)/fca{forz fﬁeorem)
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“Thvee macﬁ?nz& ?,ﬂ,@ PYOO[MC£ to</. ,30°/. , 30°/) of the
total no.of flems n the factory . The percentoge of D/g/gc_
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let D be défec{fve f’{;ﬁs
PRy =4 =8 2
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To find P(o) -~ ?
Heve A,B,c be the events of M-T,M-0 ,M-Tu
P(p) = P(AnD) + p(BAD) + P(cnD)
= PAY . P(R) 4 p(p) P[%) + P() . P D)
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A Rondom Variable X fps the ﬁo/fow‘i’ng Proéaéfff£7

funcéfon -

X 10| 2|3 |
P()| O] K | 2K |2k
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1) Reteymine k
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W If Plazk) vos find  minimur value of K
W) Detevmine  offstributfon func{forz of X

v) Mean
Vi) Variance

W Evalute P(x<e) , P(x76) P (o< <5) § PL0< <4)
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